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QUESTION 1

When redistributing IGP routes into BGP, what information is used by default on Junos platforms to determine the BGP
route\\'s MED attribute value?

A. the IGP Metric

B. routing information base
C. the IGP route preference
D. route protocol source

Correct Answer: A

QUESTION 2

Click the Exhibit button.

userfswitch# run show dotlx interface detail

ge—-0/0/15.0

Fole: Ruthenticator

Administrative state: Auto

Supplicant mode: Single—-3ecure

Number of retries: 3

Quiet period: 60 seconds

Transmit pericd: 30 seconds

Mac Radius: Enabled

Mac Radius Restrict: Disabled

Reauthentication: Enabled

ConZigured Reauthentication interwval: 3600 seconds

Supplicant timeout: 30 sesconds

Server timeout: 30 seconds

Maximum EAPOL requests: 2

Guest VLAN member: guest

Number of connected supplicants: 1

Supplicant: 50c58dbaedlé, 50:C5:8D:BA:ED:16

Operational state: Authenticated
Backend Authentication state: Idle
Authentication method: Server-Fail Vlan
Aunthenticated VLAWN: guest
Session Reauth interval: 3600 seconds
Reauthentication due in 3393 seconds
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Referring to the exhibit, which statement is true?

A. Only 802.1X authentication will be used for devices connecting to ge-0/0/15.

B. Additional users will automatically be allowed to connect to ge-0/0/15.

C. The current device is authenticated using MAC RADIUS.

D. The current device was allowed after authentication attempts to the RADIUS server failed.

Correct Answer: D

QUESTION 3

Click the Exhibit button.

fmaster:0}y [edit]
userfrouterf show firewall three—color—-policer main—-policer
action {
loss—priocrity high then discard;
}
single-rate{
color—aware;
committed-information-rate 40m;
committed-burst—-size 100k;
excess-burst-size 200k;

You have configured and applied the policer shown in the exhibit to your Junos device. Which statement is true in this
scenario?

A. Traffic exceeding the committed-burst size will be marked with a loss priority of high.
B. Traffic exceeding the excess-burst size will be discarded.

C. Traffic exceeding the committed-information-rate will be rate limited.

D. Traffic exceeding the committed-burst size will be discarded.

Correct Answer: A

QUESTION 4

You are implementing 802.1X authentication in your Layer 2 network. Each user will have a computer and a phone and
you must ensure that both devices are authenticated individually.
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In this scenario, which supplicant mode should be used?
A. captive-portal

B. single

C. multiple

D. single-secure

Correct Answer: B

QUESTION 5

Click the Exhibit button.

EBGP EBGP

Al s Fal k. 4

i/
IBGP

AS 65001

You are configuring BGP policies for a site with a dual-homed connection as shown in the exhibit. You must ensure that
inbound traffic from Internet hosts flow through the ISP A connection.

Which statement is correct in this scenario?

A. Apply a BGP export policy to R2 to prepend [65001 65001 65001 65001 65001] to the AS path of routes advertised
to ISP B.

B. Apply a BGP export policy on R1 to assign a lower MED value to routes advertised to ISP A.
C. Apply a BGP export policy on R2 to assign a lower origin value to routes advertised to ISP B.
D. Apply a BGP export policy on R1 to assign a higher local preference value to routes advertised to ISP

A
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Correct Answer: A
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